
APPENDIX - V

Test

Comprehension Test

I) Tick Mark the word which meaning Fits the context, 
i) Waif:

ii)

v)

(a) Homeless 

loitering :

(a) running 

(c) Lingering

iii) House Maid:

(a) Man servant 

(c) Made in house

iv) orphan:

(a) A person without Money

(b) A person without parents

(c) A person without books 

Opponents:

(a) friends

(b) Clever (c) poor

(b) seating

(b) Maid servant

(b) enemies

(c) members of opposite party

vi) defending:

(a) speak in support 

(c) defeating

vii) impediment:

(b) opposing

(a) just coming j 

blamed:

“j (b) obstacle (c) urgent

(a) to find fault J J (b) to praise (c) blesse

batters:
(a) better j | (b) batsman j (c) boilers



X)

xi)

xii)

xiii)

xiv)

xv)

xvi)

xvii)

xviii)

xix)

Motored:

(a) to go Forward (b) to go backward

(c) an engine —|

Field :

(a) Farm ~~~ (b) ground (c) Fielding

Crucial :

(a) important (b) critical |

(c) in best position

Fad:

(a) Craze (b) custom (c) routine

Obsessed:

(a) haunted (b) accused | (c) observed

Kindergarten:

(a) Nurseri j “> (b) a school in Garden

(c) Common schoo - - - - - - - - - - - i
j

overshadow:
!

(a) under a tree

(c) less important than 

Massive :

(a) in big scale 

(c) Long 

hacking:

(a) good work 

(c) bad work 

activist:

(a) active

(b) Moreimportant than

(b) in small scale

(b) dull work

(b) weak

(c) who is in movement



II) Match the phrase in column ‘A’ with their ‘A’ meaning in 
Column ‘B’

‘A’ ‘B’

III)

1) adopted

2) Veiled attack

3) renowned for

4) Keeping alive

5) Face the axe

Tick Mark ( f) 

Abbreviation.

(a) to sustain.

(b) Well known for.

(c) hidden assault.

(d) to get cutoff.

(e) taken for one’s own..

the correct full form of each

C: 1) GRP______ 1)
..... ...... J 2)

Government Railway Police. 

General Road Police.

2) UPA 1)

2)

United Peoples Alliance. 

United public Alliance.

3)

4)

GDI 1)

2)

TOI 1)

2)

Oneday international cricket. 

Onedav cricket 

International rating. 

Telegraph of India.

Times of India.

5) CYG 1)

2)

Common Young Group. 

Common wealth Youth Game.



iv) If the statement is generally true, tick mark T; 

if it is generally False tick Mark F

1) Rajiv was a first children to have been 
adopted by the GRP the Government 
Railway Police.

2) Sarika’s Family had problems without 
Rajiv Marring her.

3) Sonia is strongly supported Indo-us 
nuclear deal.

4) Sonia lay foundation stone of
Indira Gandi super thermal power project.

5) In Japan Growing there are craze of 
India Education.

6) At the little Angels Most of teachers are 
from Europ.

7) Sachin, Sourvav, Yuvraj & Gambhir 
had made fifties.

8) Andrew Flintoff was captain of 
England cricket team.

9) Pune Municipal corporation 
protecting trees in Pune

10) PMC is permitting for tree cutting.

V) Tick mark correct alternative which is suit to given sentence. 

1) The station became a home for Rajiv-....

(a) Rajiv is living in the station. [

(b) Rajiv built house in the station ______

■(c) Rajiv has become one of the Railway member, f



2) The Ram Setu controversy could be resolved without hurting

any section of people....

(a) Without injuring the people. -------

(b) On the side of Muslim _____

(c) Do not take care of any religion j

3) Yuvaraj and Gambhir who had been drafted into boost the 

batting....

(a) Because they failed to gather runs rapidly. ]

(b) Because they gather runs rapidly. _____

(c) Because they broke their bats. -------

4) The rising insecurity about the nation’s school, on account of

(a) their fear of attack on the schools. _____

(b) their confidence about Japnies schools. -------

(c) their a fear of increase in Indian schools. ■

5) To protect the green cover of the city.-...

(a) they want to protect green colour round the city. ---- —

(b) they want to protect trees. _____

(c) they want construct a green wall round the city.

Signature


